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    Math 8
SYSTEMS OF EQUATIONS: ELIMINATION METHOD 

Model Problems:

1.   2y  -  x  =  19 
Note: Remember to look for same numbers, opposite 
2y  +  5x  =  1                      signs. This example has the same numbers on  the 
y’s. Multiply one of the equations by negative 1.

     2y  -  x  =  19 




- 1  ( 2y  +  5x  =  1)  



            2y  -  x  =  19        
+ (-  2y  -  5x  =  - 1 )
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            x  =  - 3

Solve for y: 



Check: 
2y  +  5x  =  1



2y  -  x  =  19

    2y  +  5x  =  1

2y  +  5  •  - 3  =  1


2  •  8  -  - 3  =  19
    2  •  8  +  5  •  - 3 =  1
2y  - 15  =  1



16  +  3  =  19
    16  +  - 15  =  1  


     + 15      + 15 

            
19  =  19

    1  =  1
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           y  =  8

              solution: ( - 3, 8 ) 

2.          2x  +  y  =  3

Note: No same numbers but there are  

-  3x  +  9y  =  - 36


opposite signs on the x. Multiply the                                                                                          

                                                          through by 2 and 3.  







3 (2x  +  y  =  3 )


   6x  +  3y  =  9
2  ( - 3x  +  9y  =  - 36 )

+ ( - 6x  +  18y  =  - 72 )





21y  =  - 63 






21         21





y  =  - 3
Solve for x: 



Check: 
2x +  y  =  3



2x  +  y  =  3

    - 3x  +9y  =  - 36
2x  +  - 3  =  3


2  •  3  +  - 3  =  3
   - 3  •  3  + 9 • - 3  =  - 36


          + 3     + 3 


6  -  3  =  3

    - 9  +  -  27  =  - 36
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3  =  3


    - 36  =  - 36
 x  =  3

solution: ( 3, - 3 ) 
Directions: Solve and check the following systems of equations algebraically using elimination method. Show work.
1.   2x  +  5y  =  17
  6x  -  5y  =  - 9
2. - 5x  -  y  =  0

 5x  +  2y  =  30

3.   5x  -  7y  =  - 11

- 5x  +  3y  =  19     
4. - 2x  +  2y  =  - 8
· x  +  2y  =  - 10
5.   8x  +  11y  =  20

· 5x  +  11y  =  59
6.   2x  +  y  =  - 7

 2x  -  3y  =  61

7.   3y  -  12x  =  - 9
· 2y  +  4x  = - 26  
8.   y  -  3x  =  - 4

  2y  +  4x  =  2
9.   - 3y  -  6x  =  - 15
     2y  +  2x  =  3

10.     2  =  [image: image14.png]


x  -  y

0 =  [image: image16.png]


x  -  y

11.    2x  +  3y  =  12

  5x  -  y  =  13

12.     x  -  y  =  - 3

   5x  +  3y  =  1

13.    9x  -  3y  =  3

  3x  +  8y  =  - 17

14.    2x  +  5y  =  31
                    5x  +  9y  =  60

15.    3x  +  7y  =  22
                   5x  +  4y  =  6

Problems 16 -  19, solve by inspection.
16.     x  +  y  =  7
                   x  +  y  =  7

17.    2x  +  y  =  8

                   3x  +  y  =  8 
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  =  2     
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  =  4
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  =  10
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    =  10 
